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West Bengal State University
B.A./B.Sc./B.Com ( Honours, Major, General ) Examinations, 2018

PART - III

PHILOSOPHY — HONOURS
Paper - VIII

Duration : 4 Hours | [ Full Marks : 100

The figures in the margin indicate Sfull marks,
AT NNt s R e |

Group - A
Reter-=
Answer any one Optional Paper,
@ @7 a3fs Aftes orcan Sz ey |
( Vedantasara / cwiars )
Answer Question No, 1 compulsorily and any two from the rest within 600 words each.
5 mmmewwmwmma&w*oo RSER Ao

l..  Answer any Jour questions within 150 words each : 4x5=20
(I 5TafS o0 Saw ol o e sy ey 3
a)  What is meant by ‘Vedanta’ ?
‘@I’ TS B @R 2
b)  What is meant by Paiicikara{ta ?
A48 21T 5 iy 2

c)  How is Caitanya ( consciousness ) explained both as Nimitta ( efficient ) and
Upadana ( material ) KErar'za ?

ﬁvatsmmmuﬁ&wmqemmx:rm stefy A =w ¢
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d) What is the distinction between Jivanmukti and Videhamukti ?
G ¢ Ree sfew so oneiar f 2
e) Distinguish between Suarﬁpalak._saqa and Tatasthalaksana after the
mangala sloka of Vedantasara.

R ATE T QI FPTAIC FE @ SOF IR 2N AT 26 |

f) What is manana ? What is its necessity ?
e & 72 FEa Awew 2

g)  Determine the difference between Susupti and Nirvikalpaka Samadhi .
3 ¢ e Tifea con o I |

h)  How does Up&'sanﬁ help one in realizing the nature of Brahman ?
[

S ciamas Bramaens e fvmeama massceems Saaases

2. What is meant by Tatparya ? Explain the six-fold ways of ascertaining Tatparya
with examples. 3 +12

‘Bleor’ FE10S 5 (AR 2 Wiesiy fRaoreg Fufay U GRIGPREIC! R0 3964 |
3.  What are the different kinds of Sakti of Ajfiana ? Explain their nature and effects

after Vedantasara. - 3412
e = H 2 @A TP @R MMEOTTH T4 @ FEOHR WM F |
4. a) What is the meaning of an ‘Anubandha’ of a Sastra ?

CRIEA| TCET SR 9100 N AR ?

b)  What are the four Anubandhas of Advaita Vedanda ?
wtas WA Al e B 2

¢)  Explain the definition of Adhikari as stated in Vedantasara. 4+6+5
@ Sffis sftedia arwafs anan s |

5. Discuss how the author of Vedantasara refute Carvaka view that the ‘self is
identical with the body’.

‘728 W' — BRI @8 WO QWK TR IR fowiTal et v
How are the five great elements ( Pancamahabhuta ) produced ? Discuss the

effects produced out of five great elements ? 5+10
sigeTETgred Sesfe el 28 2 SHHETRIGS (WF Teom FrOTRA e e |
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AR FF |
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1. Answer any four questions ( within 150 words each ) :

3 PHIA (HN)-08

( Ryle /a2#1)

Answer Question No. 1 compulsorily and
any two from the rest within 600 words each.

s 7R op TR @aL WO (T (P Y ered e
2ff oo e wug T |

4x5=20

@-cT B1a e e i ( 2ifSfb seo it s ) ¢

a)

2y

c)

d)

e)

h)

Discuss the concept of self, according to Ryle.

Ryle-a¥ TS QI 4T A1 41 |

xplain bricfly Ryle's notion of ‘Retrospection’ in relation to self knowledge.
G-I sifefs ade-aa orbenime seamd Feowet e 39 |

What does Ryle mean by the nature of consciousness ?

(BT oA FHATE 18 B e 2 :

What are the differences between ‘knowing how’ é.nd ‘knowing that’ ? Explain
briefly with the help of examples.

ST Wwweﬁwm\mmmmmw«w I

Explain briefly Descartes’ theory of mind-body Interactionism.

RIER (v-w el st e e |

How does Ryle distinguish between intelligent capacities and habits ?

A& FreR (s A0 998 ST T A0S TR ?

How does Ryle differentiate the two types of Explanation ?

AR PSR 4R I W 9N AR 2

What is dispositional statement ? Answer with the help of an example.

LITSPF IR FE 7 2 THIzAT FEQRS oA o | !

2. What, according to Ryle, is the origin of category mistake ? How does official

doctrine commit category mistake ?

10+5

TREE W Qférere wifea Tew @) o @r@mmwmﬁmmwﬁnrﬁ?
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3.

What are dispositional terms ? In this regard explain the Single-track disposition
and multi-track disposition. 5+10
2AITT T[T ¥ IS N @AW ? @ 7% GG TS A8 ILA LTS A

TF |
How does Ryle distinguish between voluntary and involuntary actions ? Give
arguments against the concept of volition. 10+5

% o A Rew @38 TAES FENa T SN I ¢ aftee a1 ofe M

e 3 B 2
What does Ryle mean by intellectualist legend ? How does he criticise the ‘Dogma
of the ghost in the machine’, with reference to this legend ? Discuss. 8+7

i A1 Ao TR (Intellectualist legend) mv’tmﬁwﬁwm v ffr Frors v
T GO’ TR TR GF RS FERCRT ? AT F |

( Logic /<#fmit )

Answer Questi-dn No. 1 compulsorily.

S X o R |

Answer any four questions : 4x5=20

@ w1 o TR fw

a) ‘Thereisa close relationship between saying that something has a property
and saying that it belongs to a class.’ Explain. :
TS W o g @3 e o el e — et qfbq T WY TR
MY — AN FF |

b) : What are the domain, counter-domain and field of the relation of being a
grandfather ?
forer 2am 7 domain, counter-domain €3¢ field Fe 7 l

¢}  Explain the difference betwee

. Membership 7 0 i ldemlh’ A

Hk‘w tﬂ?{%m‘?ﬂl’ﬂmmm,

€ relation or

(SO B A N P57
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§+10
I 2T ST

itary actions ? Glivc
10+5

oM 1 oqfs Meran
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wE 2 fof Porm vg

4x5=20

ling has a property

o7 T o o

relation of being a

F&e |
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d)

e)

h)
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The empty set is a subset of every set. Explain.

o O, (T (P A G — 1 FF |

Write symbolic definitions of symmetric, asymmetric and anti-symmetric
relations. Give an example of a relation which is neither symmetric, nor

asymmetric nor anti-symmetric in a set. ‘

aadl, Rl o e efer wwl fiw | aw @3 e Saead fw
Q@ T Fpd, Rl sl eE 73 |

Explain how the truth tree method works for determining the validity of an
argument.

CPIA S IET (3491 fAefaa owea Mo STopdt s 315 3 |

Determine the relation between Philosophical Logic and Mathematical Logic.
e Ifefrm @ax snfifess St T s Fe vew |

What is the meaning of the term ‘entailment’ in logic ?

ey ‘evife’ ufts wy 9 2

Section - I
98-I
Answer any one question.

@ @ a3 ovag Tez fam |

Translate the following sentences into set theoretic notation : 3
Mva Aeeferes o Fifre are = ¢
i) Poets are fond of flowers and birds.
i o1 @ o R |
ij)  Mangoes and grapes are fruits.
8 HEHE T T |

iii)  Some Indian coffee drinkers do not drink tea and milk.

@ (T SRS T R e 51 @2 gy AN I A |
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4. a)
b)
<)
d)

8UB-

Section - II
9q3-I1
Answer any one question.
@A @ a2l ez TeF i |
Use truth-tree method to determine whether the following proposition is a
tautology : 3

P syaien AR e e e arl Fessrer R

[(x) Fx— (x) Gx] = (3x) ( Fx— Gx)

Use the truth-tree method to test the invalidity of the following argument : 3
Tepndt srafen AR e e Starer e w9 ¢

Alma is no fool.

No fool plays chess.

Alma plays chess.
T (1 Y |
PG (I T CXT AT |
S SR AR N |
Determine by the tree method whether the following sentences are logically
equivalent : ; 3
TP siwfen JR Fefy Fa feae aef (Afes e s e e
i) (3x)Fx&(3x)Gx
ii) (3x)(Fx& Gx).

Determine the validity of the following arguments by the truth tree method :
3+3

el srwfen e frsfrfis yfeefm e Fefg 3w ¢

i) Anyone who can trap everyone Holmes can, can trap Holmes.

Therefore, Holmes can trap himself
@ e @ A FW (TS @, Od FAZE FIH TS @, O

QI 17 CF9ITS 9T | AR (R PO T (TS STt |
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3+3
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P‘mﬂ@.p{
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|
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All who love Alma areé loved by her.

il
: eone whom Alma does not love.

There is som
Someone does not love Alma.

1% Y ST STETAICT, WS O SIETIeT |
QT GG A A ST AR Al |
@ GFTH AZA ({ AT SIERE 1|

Explain Russell’s theory of entailment and C.I. Lewis’ theory of entailment.
10+5

Explain the paradoxes of Lewis’s theory. :
e sraen AeieE o7 ¢ B Wik, PSR vy A | forSeom wwd cEuferefa

ARG FFEA |
OR

Explain critically, after P.K. Sen, Tarski’s theory of entailment.
o1, (. W WP Tarski-3 27fGey AR AT ¥ |

( Practical Vedanta /aifd @wis )

Answer Question No. 1 compulsorily and
any two from the rest within 600 words each.

S W 2Py WRMAE @3t WO (T (I A oo Sed
&ffb voo *rcara wrw e |

Answer any four questions ( within 150 words each ) : 4x5=20
- sraf o Tew i ( 2l seo =t oy )
a) Why do the notion of ‘Eternal Heaven’ and ‘Eternal Hell’ stand self-
contradictory according to practical Vedanta of Swami Vivekananda ?
T Reemers 9eefie @Im owe B @ WY AR QR @ 5[l
@ rE 7 |
b)  What is the significance of Dvaitavada in Advaita Vedanta ?
IS T (@A 87 B 2 2
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ory of class struggles.”
15

et et wepie

countries unite” ? What
class today ? 87
5 I S @i qofera

ut private property and

15
o e |
15
L EISED)
h.
T
4.x5=20

1 Utsaver din’,
% |

? Discuss briefly after

T IRTE A T |

ina Rharater Flah')
1'@F: ) werweel e

a PHIA (HN)-08

State briefly Tagore’s view on Brahmavihara bhavana of Lord Buddha.
z{musﬁwwﬁmmmm:wwwww [

e)  How according to Indian Scriptures, the grihasrama (second stage of human
life) becomes conducive to liberation without being an obstacle to it ?

mmmm(wmﬁmmmmwmmm

24 9141 A T RIFF W ?

f) How does Tagore show that for human beings their property of being animal
is subordinate to their property of being social ?
2RI eI (RITITE (8 TR GRefifel ST 4o Seast ?

g  “Actually acceptance and rejection, bondage and renunciation — both are
equally true.” Explain in brief. :
‘TS AT 3L TG, T G LAY, @R HHIR S A | IS WA A |

h) Can we limit the ananda of I$vara ? Discuss briefly following the essay
Duhkha. ' -
vl 5 FEe S MRE FA00 S 2 (oY o< S $E AR A

FF |
“For flowers it is easy to have flowerness, but for human beings it is not at all easy
to have humanity.” — Explain this statement of Tagore. 15
oo ST SO TS RE, T SI0F FIAY OO W& AW |7 — FAEARE a8 I69)

M FF |

Which one is the day of festivity for human beings ? Discuss elaborately after
Tagore’s essay ‘Utsaber Din’. 15
TR SRR o B 2 3R ST i o Pt s s 3 |
Make a comparative study of European culture and Indian culture after Tagore’s
essay Tatah Kim’. 15
FAENRE TO; O o WP FRIMY MFo 9 SRS MFRoA PR WA

IFA |

Does Tagore corroborate with the traditional Indian philosophical view that we

iould treat pleasure and pain equally ? Discuss elaborately the significance of
pain in Tagore’s philosophy. S5+10

Banfie SRET ™ 4 ¢ PN@ @ FTER (N I T ZWeg AR b o N
FE ? FAFANLT W 2039 ey RRoeIE e 376 | i

d)

_SUB-B.A.(HN)-PHIA-12136 |
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2. “The history of all hitherto existing society is the history of class struggles.”
— Explain after Communist Manifesto. 15

QTR T e 2feRrt Ty eafferarea SR 1" SRS et S
AL TE | :

3. What is the significance of the slogan “working men of all countries unite” ? What
according to Marx, is the international task of the working class today ? 8+7
‘IR ToME 9T Te” — @B Wi wleow 9 o AEH -9 T© IEN Sy = e
G 6 2

4. Give a brief account of the view of Marx and Engels about private property and

family. 15

L TS 2l @ SR E WA @ averT-ad Neanrd fRaae fomr |
AEATH fAgicad Qe AR ST T%= |

( Dharma : Rabindranath Tagore /% ¢ 314 s1g7)
Answer Question No. 1 compulsorily and
any two from the rest within 600 words each.
5 q¢ o TR G T (¥ (I Y 4ed Tew
ofefs voo rara wu fw |
1.  Answer any four questions ( within 150 words each ) :
a1 oo Twa fi ( 2fefl seo e W ) ¢
Explain the term ‘Saktir utsav’ following the essay titled ‘Utsaver din’.
B i’ At o P ¥ W S’ el e w9 |
b) How does patriotism become an obstacle for humanity ? Discuss briefly after
Rabindranath.
crifEteliel e THATe SRATY 5F 2 ITUAINE TR I NCHE AT FEA |
c) “Death lies in many, immortality lies in one ... ” ( Pracina Bharater ‘Ekah’ ).
Explain in brief.
“qeeR TR I, WIS (78 O Vo . " (21 OR0ed @F:’ ) RS TR

IEA |
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(Practical and Environmental Ethics TR qa s Mefwrt )

Answer Question No. 1 compulsorily and
any two from the rest within 600 words each.
> M e AR G ST (¥ @ R e Seg

ofefb voo *rara wiey fay |

L. Answer any four questions ( within 150 words each )y 4x5=20
QP 51 ot Swa ot ( ool seo roara s ) ¢

a)

b)

<)

d)

e)

h)

i

J)

SUB-B.A.(HN)-PHIA-12136 P !

What is suicide ? Give an acceptable definition of suicide,
SRR P T ? WGREE G azeren ew) fm |

What is ‘meant by Human Rights ? What are the distinctive features of
Human Rights ? '

TR 7108 B Q@IS 2 T et Smy 5 | ,
What are the marks of ‘Just war’ ? '
YT e & o ]
Distinguish between Active and Passive euthanasia ? e
Y @ FfEw T zem ot 7o T |

Explain whether killing animal is morally wrong,

enizen w3 fres cuee s R, o1 TS T |

What is meant by Gender discrimination ? Does our modern society upheld
gender discrimination ? ”
mmmﬁsM?WWﬁsﬁwmﬁm?

Is racial discrimination justified ?

wfeere taawy &6 sremmey 2

What do you mean by the ends and means of a war ?

0T 7T @ BHATY IT0S 6 @R 7

What do you understand by Environmental Ethics ?

sifice A w1 B et »

Distinguish between shallow ecology and deep ecology.
Memwmmmmmmwm !










